When we don't know who does/did something

When it's obvious who does/did something
‘When it's not imbortani who does/did soo’néth'ihg
To refhphasisev new>informétion :

(which appears at the end of the sentence)
To avoid starting clauses with |ong expressmns

54

To prodooe a formal style

 The car was stolen at approximately 1.30 am.

Having been introduced in 1988, the Road Traffic Act regulates all vehicle
use on UK roads. Al 159 i) SHEEicREINSu ] - Lo
The X500 was designed with young families in mind, so there’s plenty of
room in the boot.

This type of submarine was developed durmg the Second World War by the

| Americans.

We were surpnsed by the number of people trymg to leave the c:ty for the
long weekend.

(More natural than The number of people trying to leave the city for

the long weekend surpnsed us.)

Impersonal passive

Form

noun + verb in passive form + infinitive
/ perfect infinitive

There + verb in passive form + infinitive
/ perfect infinitive

It + verb in passive form + that clause

Common verbs Example

agree, assume, believe, claim, Tourism is expected to become a

consider, estimate, expect, feel,  major part of the country’s economy.

find, guarantee, know, mean,

presume, regard, report, say, There are reported to have been

suppose, think, understand a record number of accidents on the
roads this year.

borevs, colcufato.clam, congder, It 5 thought that the new raitway wil

estimate, expect, feel, know, provide employment opportunities for

presume, report, say, suggest, local people.

suppose, think, understand

Direct and indirect object

There are two possible passive forms

Some verbs i in active sentences can be followed by both a direct and an mdnrect object (usually a person). Common verbs
include: bring, buy, get, glve leave, Iend ‘make, offer, owe, pass, pay, promise, refuse send, show take, teach tell, write, etc

Active sentence: Michael gave the p!ane tickets to Jill.

With indirect object as subject of passive verb _
With direct object as subject of passive verb

| Jill was given the plane tickets (by Michael).

The plane tickets were given to Jill (by M:chael)

In the second structure in the table above, we sometimes omit the preposition before indirect object pronouns.
7 Sharon’s Rolls-Royce was left (to) her by her grandfather.

With the verbs explain and suggest, the preposition before indirect object pronouns cannot be omitted. They cannot
be used w:th the first structure in the table above.

v How to drive the train was explained to me.
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t 7 Grammar

A If the verb in bold is correct, put a tick. If it is incorrect, rewrite it correctly.
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11
12

Could you tell me where your passport was been issued?

When the winning actor was finally announced, a big cheer went up.

Has your business trip to Calcutta next week confirmed by the Indian office?
Everyone who was been invited to the wedding came.

The wire coat hanger invented in 1903 by a Mr Parkhouse.

The issue has discussed in Parliament yesterday, but no decisions were taken. ...,
By the time we get there, the problem should have been sorted out.
Britain was be invaded by the Romans under Emperor Claudius in 43 AD.
The party had been planned months in advance, but we still had problems.
After be treated, | was allowed to leave the hospital.

We boarded the ship and were showing to our cabin by a steward.

The new supermarket is to be opened by an actor from a soap opera.

B Write a verb from the box in the correct passive form in each gap.

allow © ask e find e give ® know e light ® make  meet  show e write

1
2
3
4
5
6
7
8
9

(=
(@)

The stolen items in the attic of an empty house last week.
When the open-air cinema opens, the first film will be Vertigo.
Questions in Parliament about the Minister's business interests.
We're looking forward to a guided tour of the whole factory.
Just imagine that when these words , Europeans had not yet discovered America.
Once the barbecue , we'll be able to start cooking.
Before to see the invention, | had to agree not to tell anyone.
at the airport, if that’s possible.

very clear to us that we weren't welcome.

Gareth says he’s always wanted as someone with a good sense of humour.

C Circle the correct word or phrase.

O 00 N O O B W N =

—
(=)

Global warming is thought to be caused / is caused by pollution.

There are to be estimated / are estimated to be about 5,400 different species of mammals.

It is to be reported / has been reported that gunshots have been heard in the city centre.

The escaped prisoner is believed to use / to have used a rope to climb the wall.

It is to be calculated / is calculated that about 60% of a man’s body mass is water.

Over 200 people are being understood / are understood to have been injured in the explosion.
It is considered impolite in some cultures to be eaten / to eat with your left hand.

There mean / were meant to have been 60 crates of olives in the order, not 600!

It / There has been suggested that people who don't recycle should pay more tax.

Your order is guaranteed will be delivered / to be delivered within three working days.




